Word Problems

Multiplication & Division Mix

. At alarge feast, there were three tables of food. One each table, there were 70 glasses. How
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many glosses were there in all?

2. Alocal craftsman makes bookshelves. Each bookshelf requires 6 pieces of timber. How many

cabinets can he make from 744 pieces of timber?

3. Ray bought 3 TVs as presents. Fach TV cost $2,594 How much did he spend altogether?

4 At Wendy's Window Washing, workers use spray bottles that will each clean 8 windows. How many

spray bottles will workers need to clean 1,976 widows?

5. Sal has read O books so far this year. She estimated that each book had 860 pages.

Approximately how many pages has she read altogether this year?
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Word Problems Answers
Multiplication & Division Mix

1. At alarge feast, there were three tables of food. One each table, there were 70 glasses. How

g
1

many glasses were there in all?

210 glasses

2. Alocal craftsman makes bookshelves. Each bookshelf requires 6 pieces of timber. How many

cabinets can he make from 744 pieces of timber?

— | 124 cabinets

3. Ray bought 3 TVs as presents. Fach TV cost $2,69% How much did he spend altogether?

$7,782

4 At Wendy's Window Washing, workers use spray bottles that will each clean 8 windows. How many

spray bottles will workers need to clean 1,976 widows?

247 spray bottles

5. Sal has read O books so far this year. She estimated that each book had 860 pages.

Approximately how many pages has she read altogether this year?

Approximately 4,300 pages
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